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uA741 - inside

LF155/157 

Typical Op-Amp parameters

Parameter Symbol
Perfect

op-amp
uA741 LF157

OL gain AVOL infinite 100000 200000

Unity gain frequecy fT infinite 1Mhz 20MHz

Input resistance Rin infinite 2MΩ 1012Ω

Output resistance Rout zero 75Ω 100Ω

Input bias Iin(bias) zero 80nA 30pA

Input offset current Iin(off) zero 20nA 3pA

Input offset voltage Vin(off) zero 2mV 1mV

CMRR CMRR infinite 90dB 100dB
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More Op-Amp parameters
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Common Mode Rejection Ratio
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•inverting amp,

•Non-inverting amp

•summing amp

•substracting amp

•integrator

•differentiator

Op-Amp common applications
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Follower
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Instrumentation Amp
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phase shifter

(all pass filter of 1st order)
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Girator

Auto-zero Amp ???

TIPs:

• low operatin frequencyb,

• very low offset

Summing up

•real and perfect Op-Amp parameters,

•applications:

•inverting and non-inverting amp,

•summing amp and subtracting amp,

•instrumentation amp,

•integrator and differentiator,

•idea of an auto zero amp ??


